Duct System for a Switch Cabinet Mounted

m nu'-l- CNLTD142A3 (Cisco 7009)

© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Rear of Cabinet
(Hot Aisle)

For a Net Access Legacy
or Net-Access N-Type
Switch Cabinet
(N*** or CN***)

Front of Cabinet 7009 Duct
(Cold Aisle)
Component Guide
Q
Note: Upper RH Bracket =
Has Notches On Top.
= b Top Seal Plate

(4) Adjustment Brackets

=" Upper LH
Bracket

Upper RH
. o | Bracket

Note: Lower RH Bracket u
pper Inlet Duct Box
Has Notches On Bottom. U —"

Side Ducting

Lower LH
Bracket

o Lower RH
Bracket

Bottom Seal Plate

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 14




Securing Vertical Blanking Panel

Tools Needed:

-Phillips Head Screwdriver
-Socket Wrench

-3/8” Socket
-5/16” Socket

Hardware Supplied:

Qs

Washer

# 12 Star

=

#12-24
Screw

AN

A\

#10-32
Nut

© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A
INDEX Ace
Preparing Cabinet for 7009 DUCE INSEAlIAtIoN. .........oueiiiiiie et e s annee e 3
oY1 =N o Yo=Y Y=Y o SO 4
Top / Bottom Left Hand Bracket INStallation........... ... et e e e e e e S
Top / Bottom Right Hand Bracket INStallation...............ooii it 6
Installing Side Duct Day 1: Without Switch or Side Panel Installed................ooiiii e 7
Installing Side Duct Day 2: With Switch and Side Panel Installed
Separate Side DUCE SECHONS. ...ttt e e e e e oo e e e ettt et e e eeaeea s neeeaeeeeeaeaaaeaeaaaannnsennneeeeeas 8
Section A of Side DUCE INSTAllAtioN.......... ..ot r e e e e e e e e e e et n e e e e e aaaaeeeeaaannnes 9
Section B of Side DUCE INSTAIALION. .............c.ooiiieieeieee ettt et e et et e et e et et et e eee et e e eeeteeteereeaeereeneeaeans 10
Side DUCt Seal Plate INSTAlIAtION.................ccoieeeeeeee ettt ee et et e et et e et e et e et e e et e teeteeaeeteeteeteeaeeseeseeneeneens 11
Upper / Lower DUCE BOX INSLAIAHION. ............cc.iiiieeeee ettt e e eteeteeteeteeteeteeteeaeeteeteeseeseeseeseeseennas 12
13

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 14




© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Preparing Cabinet for 7009 Duct Installation
For Legacy Net-Access (CN***) Cabinets Only

« If present, remove side panel bumper by unscrewing (4) # 12-24 screws and (4) # 12 washers. (As shown in View A)
*  Remove (1) # 12-24 bolt from the front of the vertical blanking panel. Save bolt to be reinstalled later. (As shown in View B)

Rear of Cabinet
(Hot Aisle)

4) 12-24
Screws

(4) # 12 Star
Washers

Bumper

oy
AW
B\

4

==
=1

\

N

Front of Cabinet
(Cold Aisle)

(1) 12-24 Bolt

Vertical Blanking Panel

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 14




© Panduit Corp. 2012

INSTALLATION INSTRUCTIONS

CMS584A

Device Placement for Net-Access Legacy Cabinets (CN***)

Due to physical constraints posed by the front-to-back beams on the Net-Access Legacy cabinet, there are

certain areas of the cabinet that the device cannot be mounted when used in conjunction with this inlet duct.

rails need to be 24.25” - 26.1” back.

* NOTES:

Numbers-up RU numbering (#1 at bottom) assumed.

45 RU Net-Access CN*** Cabinet (Legacy)

= ]

—T

Device KEEP-OUT
area -RU 41 -45

A

be installed
27 -40

Device can
in RU

y

Device KEEP-OUT
area - RU 20 - 26

] O O OJ dJ oJ oj o o 0J o 0J oj o] &%

[

A

Device can be installed
in RU 6 -19

Y

Device KEEP-OUT
area-RU1-5

C C) o CJ CF cJ cJ C©J c© o CF ] CJ & &J O o/ o oJ o ol o o7 ol o o dJ o &

C1 CJ CJ CJ ch CJ CJ CJ CJ 1 Ch 1 &

]
i)

b= oll @& .

For Net-Access Legacy cabinets, front equipment rails need to be in full forward position and rear equipment

42 RU Net-Access CN*** Cabinet (Legacy)

= = = |
i H
E3 2
o i
gk e
¥ 19
g3 2e
Device KEEP-OUT i -
area - RU 20 - 42 Bd gE
Sl e
B3 2e
o 1
=4 5
i i
vs 40
e I
{ i
ol ai
Y ol ﬂé:ﬂ
A Dgg ggD
ok 3L
Ul 0
nE Y
Device can be installed o A
inRUG6-19 D EED
i ¥
i i
Uk 40
Y o i
Device KEEP-OUT DféV 4
area-RU1-5 D;? /EED
W Af
= oll & . 4

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 4 of 14




© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS

CMS584A

Device Placement for Net-Access N-Type Cabinets (N***)
For Net-Access N-Type switch cabinets, there are no device keep-out areas. The only restriction on device is

that 3 RU must be left open above and below the switch.

For Net-Access N-Type cabinets front and rear equipment rails need to be 24.25”-24.50” apart.

NOTES:
Numbers-up RU numbering (#1 at bottom) assumed.

Device KEEP-OUT
area -RU 42 -45

Avava

Device KEEP-OUT
area - RU 40 - 42

A

Device can be installed Device can be

inRU 4 - 41

y

A

installed

inRU 4 - 39

y

Device KEEP-OUT
area-RU1-3

SO O0O0CGOOO0000C000000000000G000000000000G0000G]°

area-RU 1

L UURUSUUOUDUUDOUDUUDOUDUUEUEUOUUEUDROUDEUREU

Device KEEP-OUT

-3

000000000000 0000000000030 0300800000000000000¢0

H
°
o
°

§

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 5 of 14




© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Top / Bottom Left Hand Bracket Installation

*  Measure distance between front and rear equipment rails.

»  Attach (1) adjustable bracket to each side bracket. (As shown)

*  Adjust bracket to fit equipment rail spacing.

«  Tighten adjustment bracket nuts.

« Install (1) upper left hand bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)
« Install (1) lower left hand bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)

NOTE: If cabinet equipment mounting rails have square holes, one grounding cage nut should be used in each mounting rail.

Rear of Cabinet

Equipment Rail Spacing (Hot Aisle)

(8) #12 Star
Washers

o
o
b | -

Upper
Left Hand
Bracket

Adjustment Bracket

Adjustment Nuts
Upper
Left Hand Bracket
Equipment Rail Spacing -7

(8) #12-24
screws

Adi Brack Front of Cabinet
JJustment Bracket (Cold Aisle)

Vertical Blanking Panels

Adjustment Nuts
Lower
Left Hand Bracket Lower
Left Hand
Bracket

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 6 of 14



© Panduit Corp. 2012

INSTALLATION INSTRUCTIONS

CMS584A

Top / Bottom Right Hand Bracket Installation

*  Measure distance between front and rear equipment rails.
»  Attach (1) adjustable bracket to each side bracket. (As shown)

*  Adjust bracket to fit equipment rail spacing.
«  Tighten adjustment bracket nuts.

« Install (1) upper right hand bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)
« Install (1) lower right hand bracket with (4) #12-24 screws and (4) #12 star washers. (Leave screws loose until Inlet Box is installed.)

Adjustment Nuts

Adjustment Bracket

Upper
Right Hand Bracket

Equipment Rail Spacing

Adjustment Nuts

L Adjustment Bracket
ower

Right Hand Bracket

Equipment Rail Spacing

(8) #12-24
screws

Front of Cabinet
(Cold Aisle)

Rear of Cabinet
(Hot Aisle)

(8) #12 Star
Washers

“ . \ Upper
- Right Hand
Bracket

=il

i
1

2

Lower
Right Hand Bracket

Vertical Blanking Panels

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 7 of 14




© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Installing Side Duct Day 1:
Without Switch or Side Panel in Place.

Side Duct Installation

* Install Side Duct by sliding threaded studs on side duct into slots in upper and lower right hand brackets and secure with (4) #10-32
nuts.
NOTE: For Net-Access N-Type cabinets only, attach 1” thick foam seal along edge of side duct. (See Detail Below)

Rear of Cabinet

(Hot Aisle) -Q
OO =SS

== _ — =u
N - —
= 2
g ] o
L e o
. L Ho
g I 3
w0 e 9
o e it
i N o
1 ke i
. e o
:::m : -7 g (4) #10-32 Nuts
3 b S
g B S
. R ?
.w‘m LUiie 0
i 8l i
" £l 2
. it 1
" PG 2
- o ; Side Duct
™ Nt - g
g =N | - < e o> -
IR 311 (e i
gLl hm T T
1% o
R U
AL >
o :
= = (4) Threaded
Studs
RIE
Front of Cabinet 0
(Cold Aisle) i
(e
NOTE: 10
For Net- iy
Access N-Type I
Cabinets Only, il
attach \
provided strip (4) Bracket
of foam seal Sl
along edge of -
side duct.

Vertical Blanking Panels Removed for Clarity.

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 8 of 14



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Installing Side Duct Day 2:
With Switch and Side Panel in Place.

Separate Side Duct Sections

Remove (4) #10-32 nuts.
Separate Section A from Section B.

Section A
of Side Duct

(4) #10-32 Nuts

Section B
of Side Duct

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 9 of 14



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Section A of Side Duct Installation

*  From the rear of the cabinet slide section A of the side duct into cabinet. (Exactly as shown)
»  Slide the threaded studs on the side duct into the slots in the upper and lower right hand brackets as shown.
*  Secure side duct to brackets with (4) #10-32 nuts.

Front of Cabinet
(Cold Aisle)

Note:
Shaded area
represents
side panel.

of Side Duct

7009 Switch

Rear of Cabinet
(Hot Aisle)

(4) #10-32 Nuts

Slot in Bracket

Threaded
Stud

Front to Back Support Brackets Removed for Clarity.

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 10 of 14




© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Section B of Side Duct Installation

*  From the rear of the cabinet slide section B of the side duct into the cabinet. (Exactly as shown)

*  Through opening in top right bracket lift side duct into place and slide slots on section B of side duct onto threaded studs on section
A of side duct.

*  Secure section B to section A with (4) #10-32 nuts,

Threaded
Stud

(4) #10-32 Nuts

Slot in Section B

Section A
of Side Duct

Front of Cabinet
(Cold Aisle)

Note:
Shaded area
represents
side panel.

Use Opening in Top Right
Side Bracket to Slide

Section B onto Section A. Section B

of Side Duct

7009 Switch

I Rear of Cabinet
Hot Aisl
Front to Back Support Brackets Removed for Clarity. (Hot Aisle)

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 11 of 14



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Side Duct Seal Plate Installation

» Install top and bottom seal plates to side duct by inserting threaded studs into the holes in the duct and side bracket. Secure the seal
plates in place with (4) #10-32 nuts.

Rear of Cabinet
(Hot Aisle)

Top Seal Plate

Side Duct

5 o °
ST

o
0
- ﬁ le B g
% o =
D 0
t T
by o g
At
0 @P
i o
/ I
10
1 D }/
e
10 (4) Holes in side
q brackets and (4) #10-32 Nuts
~1p duct.
ﬁ% Side Duct

%

/)
;

t
/)

R N —N )

LY Y e o W W v W o W\ N - e W - W ey

%

Front of Cabinet
(Cold Aisle)

(4) Threaded
Studs Bottom Seal Plate

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 12 of 14



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Upper / Lower Duct Box Installation

» Install (1) upper inlet duct box by sliding box into upper brackets, along built in guide flanges and securing with (2) #10-32 nuts.
» Install (1) lower inlet duct box by sliding box into lower brackets, along built in guide flanges and securing with (2) #10-32 nuts.
»  Tighten all bracket screws that were intentionally left loose earlier.

Rear of Cabinet
(Hot Aisle)

Upper Brackets
Upper Inlet

Duct Box \

(2) #10-32 Nuts

Lower Inlet §
Duct Box

(Cold Aisle) v

Lower Brackets

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 13 of 14



© Panduit Corp. 2012 INSTALLATION INSTRUCTIONS CMS584A

Securing Vertical Blanking Panel (For Legacy Net-Access (CN***) Cabinets Only)

*  Replace the (1) # 12-24 bolt that was removed on page 1.

Vertical Blanking Panel

1 0 ™~
u . T ) i
‘;Et , 0 A - i?"‘
o ’ n 5 W ;
\ ol o u
@ 0 it e N
i 4
| ‘ n| : i
K i i (10 'k
i o iy
lt:E o ° E t il
0 o/ '-“ i E
8 /O/D i v I
W\l o o i ‘n[ﬂ i
- u I
\ L[ 4 . o o D [;
| ° ! I @ y
n
H\ l; %: L] u
iU /
il
o~ o K: IJ
N )
g o \'E‘
Q | 1
’ 0 h
D P \ >Jif
|| U )
0
il I
(1) # 12-24 Bolt n ?@ i
il "0 |1
[~ & &
1 i
il "
Ii[:
ik
v

7 7 7 o o i

For Instructions in Local Languages N E-mail:
and Technical Support: n “ I T techsupport@panduit.com
www.panduit.com/resources/install_maintain.asp www.panduit.com 8665]11(‘))5n—e6:654

Page 14 of 14



